BISHERZERTRERABLS R

SIEDHER 04 4 A 30H

a8 = Al B 4 3 13 &t
HKE(En BEa% 9,531 12,957 22,488
REHT 5,641 7,218 12,859
4 178 150 328
NEF 5,819 7,368 13,187
H&E(Jap HREK 2,236 1,185 3,421
£ =N 1,020 622 1,642
B 176 61 237
NE 1,196 683 1,879
%58 (Fre BHEEK 9 10 19
MEHT 0 1 1
B 1 1 2
NE 1 2 3
IR (Ge BASK 7 12 19
MEHT 0 2 2
B 1 1 2
NE 1 3 4
BT ( BASK 13 16 29
HEEE 7 5 12
B 1 1 2
NEE 8 6 14




AT iz 41 mAEK 2 1 3
BEEE 1 0 1

EEF) 0 0 0

NEF 1 0 1

FERE(Ko RS 11 12 23
HEEE 5 3 8

EEF) 4 3 7

INEF 9 6 15

ENSRE( mASK 0 1 1
£ =4 0 1 1

B 0 0 0

N 0 1 1

AT\ WMASHE 1 1 2
MEEE 0 0 0

EEF) 0 0 0

Nt 0 0 0

REE(Ru mASHE 1 1 2
MEEE 0 0 0

B 0 1 1

INEF 0 1 1

BE(Ca mASHE 1 0 1




HEHT 1 0 1

L3 0 0 0

NEF 1 0 1

M it A 11,812 14,196 26,008
MEST 6,675 7,852 14,527

B4 361 218 579

NEF 7,036 8,070 15,106




